Name ___________________    



 November 20, 2007

Here is a number in twos complement form.   What is its base 10 value?    
__________-19___

	      1
	    0
	   1
	  1
	0
	1

	0
	1
	0
	0
	1
	1


What is the advantage of twos complement representation over ones complement representation?

	It has only one representation for zero



What is an abstract data type?

	A set of values and the operations that can be performed on those values


Given the following array and variable declarations, where the base address in decimal is 212 and the size of each element is 2 units, what is the address of   myArray[77] ?     ______212 + (77-14)*2 = 338______________________
type theArray = array [14..81] of integer;

var myArray : theArray;

